Precinct Resul	ts Report	NACOGDOCHES COUNTY, TEXAS	Official Results
NACOGDOCHES COUNTY, TEXAS		Registered Voters	
Official - 2025 May	<sup>7</sup> 3rd	GENERAL ELECTION	2888 of 30872 = 9.35% Precincts Reporting
Run Time Run Date	9:32 AM 05/06/2025	5/3/2025 Page 1	10 of 10 = 100.00%
GISD		186 c	of 1,752 registered voters = 10.62%

#### GARRISON INDEPENDENT SCHOOL DISTRICT TRUSTEE - Vote for none, one or two Choice Party **Absentee Voting** Early Voting **Election Day Voting** Total JUSTIN SHULL 1 100.00% 52 45.22% 89 43.84% 142 44.51% MATT BARRETT 0 0.00% 36 31.30% 64 31.53% 100 31.35% FLOYD RAMBIN 0 0.00% 27 23.48% 50 24.63% 77 24.14% Cast Votes: 1 100.00% 115 100.00% 203 100.00% 319 100.00%

Precinct Result	inct Results Report NACOGDOCHES COUNTY, TEXAS		Official Results
		NACOGDOCHES COUNTY, TEXAS	Registered Voters
Official - 2025 May	3rd	GENERAL ELECTION	2888 of 30872 = 9.35%
			Precincts Reporting
Run Time	9:32 AM	5/3/2025	10 of 10 = 100.00%
Run Date	05/06/2025	Page 2	

2 of 56 registered voters = 3.57%

Total

0.00%

2 100.00%

2 100.00%

0

#### **CITY OF NACOGDOCHES MAYOR - Vote for none or one Election Day Voting** Choice Party **Absentee Voting Early Voting** RANDY JOHNSON 0 0.00% 2 100.00% 0 0.00% BRIGETTE KOZASH 0 0.00% 0 0.00% 0 0.00% Cast Votes: 0 0.00% 2 100.00% 0 0.00%

Precinct Resul	ts Report	NACOGDOCHES COUNTY, TEXAS	Official Results
		NACOGDOCHES COUNTY, TEXAS	Registered Voters
			2888 of 30872 = 9.35%
Official - 2025 May	/ 3ra	GENERAL ELECTION	Precincts Reporting
Run Time	9:32 AM	5/3/2025	10 of 10 = 100.00%
Run Date	05/06/2025	Page 3	

362 of 7,925 registered voters = 4.57%

Choice	Party	Absentee	• Voting	Earl	y Voting	Election Da	y Voting		Total
DEMOND JACKSON		2	20.00%	6	2.39%	1	1.00%	9	2.49%
CHERYL D. BRADY		2	20.00%	137	54.58%	63	63.00%	202	55.96%
DAMON RUCKEL		6	60.00%	108	43.03%	36	36.00%	150	41.55%
	Cast Votes:	10	100.00%	251	100.00%	100	100.00%	361	100.00%

Precinct Resul	ts Report	NACOGDOCHES COUNTY, TEXAS	Official Results
		NACOGDOCHES COUNTY, TEXAS	Registered Voters
Official - 2025 May	official - 2025 May 3rd GENERAL ELECTION		2888 of 30872 = 9.35% Precincts Reporting
Run Time	Run Time 9:32 AM 5/3/2025		10 of 10 = 100.00%
Run Date	05/06/2025	Page 4	
003		301	l of 3,991 registered voters = 7.54%

## **CITY OF NACOGDOCHES MAYOR - Vote for none or one**

Choice	Party	Absentee Voting	Earl	Early Voting		Early Voting Election Day Votin		y Voting		Total
RANDY JOHNSON		2 100.00%	117	52.94%	27	37.50%	146	49.49%		
BRIGETTE KOZASH		0 0.00%	104	47.06%	45	62.50%	149	50.51%		
	Cast Votes:	2 100.00%	221	100.00%	72	100.00%	295	100.00%		

Choice	Party	Absentee Voting		Early Voting		<b>Election Day Voting</b>			Total
DEMOND JACKSON		0	0.00%	17	7.91%	9	13.43%	26	9.12%
CHERYL D. BRADY		3	100.00%	94	43.72%	26	38.81%	123	43.16%
DAMON RUCKEL		0	0.00%	104	48.37%	32	47.76%	136	47.72%
	Cast Votes:	3	100.00%	215	100.00%	67	100.00%	285	100.00%

Precinct Resul	ts Report	NACOGDOCHES COUNTY, TEXAS	Official Results
		NACOGDOCHES COUNTY, TEXAS	Registered Voters
			2888 of 30872 = 9.35%
Official - 2025 May	' 3rd	GENERAL ELECTION	Precincts Reporting
Run Time	9:32 AM	5/3/2025	10 of 10 = 100.00%
Run Date	05/06/2025	Page 5	

28 of 778 registered voters = 3.60%

## NACOGDOCHES INDEPENDENT SCHOOL DISTRICT TRUSTEE, AT LARGE - Vote for none or one

Choice Party	Absente	Absentee Voting		Early Voting		<b>Election Day Voting</b>		Total
DEMOND JACKSON	0	0.00%	3	16.67%	0	0.00%	3	11.11%
CHERYL D. BRADY	0	0.00%	12	66.67%	1	12.50%	13	48.15%
DAMON RUCKEL	1	100.00%	3	16.67%	7	87.50%	11	40.74%
Cast Vot	es: 1	100.00%	18	100.00%	8	100.00%	27	100.00%

## NACOGDOCHES INDEPENDENT SCHOOL DISTRICT TRUSTEE, SINGLE MEMBER DISTRICT 1 - Vote for none or one

Choice Party	Absentee Voting		Earl	Early Voting		Election Day Voting		Total
JAMES A. ERVIN	1	100.00%	16	100.00%	5	100.00%	22	100.00%
Cast Votes:	1	100.00%	16	100.00%	5	100.00%	22	100.00%

Precinct Resul	lts Report	NACOGDOCHES COUNTY, TEXAS	Official Results
		NACOGDOCHES COUNTY, TEXAS	Registered Voters
Official - 2025 May	y 3rd	GENERAL ELECTION	2888 of 30872 = 9.35% Precincts Reporting
Run Time	9:32 AM	5/3/2025	10 of 10 = 100.00%
Run Date	05/06/2025	Page 6	
005			1 011 of 5 397 registered voters - 18 73%

#### i,011 of 5,397 registered voters 10.1370

#### **CITY OF NACOGDOCHES MAYOR - Vote for none or one** Choice Party **Absentee Voting Early Voting Election Day Voting** Total RANDY JOHNSON 9 64.29% 541 73.51% 164 64.31% 714 71.04% 26.49% 291 BRIGETTE KOZASH 195 91 35.69% 28.96% 5 35.71% Cast Votes: 14 100.00% 736 100.00% 255 100.00% 1,005 100.00%

### **CITY OF NACOGDOCHES COUNCILMEMBER - NORTHEAST WARD - Vote for none or one**

Choice Party	Absentee Voting		Early Voting		<b>Election Day Voting</b>		Total	
KATHLEEN BELANGER	11	100.00%	543	100.00%	178	100.00%	732	100.00%
Cast Votes:	11	100.00%	543	100.00%	178	100.00%	732	100.00%

Choice	Party	Absente	e Voting	Earl	y Voting	Election Da	y Voting		٦
DEMOND JACKSON		1	7.69%	22	3.06%	12	4.82%	35	3
CHERYL D. BRADY		8	61.54%	402	55.99%	104	41.77%	514	52
DAMON RUCKEL		4	30.77%	294	40.95%	133	53.41%	431	43
	Cast Votes:	13	100.00%	718	100.00%	249	100.00%	980	100

Precinct Resul	lts Report	NACOGDOCHES COUNTY, TEXAS	Official Results		
		NACOGDOCHES COUNTY, TEXAS	Registered Voters		
Official - 2025 May 3rd			2888 of 30872 = 9.35%		
Official - 2025 May	/ 310	GENERAL ELECTION	Precincts Reporting		
Run Time	9:32 AM	5/3/2025	10 of 10 = 100.00%		
Run Date	05/06/2025	Page 7			

#### 467 of 4,124 registered voters = 11.32%

#### **CITY OF NACOGDOCHES MAYOR - Vote for none or one** Choice Party **Absentee Voting Early Voting Election Day Voting** Total RANDY JOHNSON 3 37.50% 190 57.58% 75 59.06% 268 57.63% 52 40.94% BRIGETTE KOZASH 197 42.37% 5 62.50% 140 42.42% Cast Votes: 8 100.00% 330 100.00% 127 100.00% 465 100.00%

### CITY OF NACOGDOCHES COUNCILMEMBER - NORTHWEST WARD - Vote for none or one

Choice Party	Absentee Voting		Early Voting		Election Day Voting			Total
BRAD MAULE	5	100.00%	226	100.00%	91	100.00%	322	100.00%
Cast Votes:	5	100.00%	226	100.00%	91	100.00%	322	100.00%

Choice	Party	Absentee Voting		Early Voting		<b>Election Day Voting</b>			Tota
DEMOND JACKSON		3	42.86%	7	2.15%	5	4.17%	15	3.31%
CHERYL D. BRADY		1	14.29%	156	47.85%	54	45.00%	211	46.58%
DAMON RUCKEL		3	42.86%	163	50.00%	61	50.83%	227	50.11%
	Cast Votes:	7	100.00%	326	100.00%	120	100.00%	453	100.00%

Precinct Resul	ts Report	NACOGDOCHES COUNTY, TEXAS	Official Results		
		NACOGDOCHES COUNTY, TEXAS	Registered Voters		
Official - 2025 May 3rd		GENERAL ELECTION	2888 of 30872 = 9.35% Precincts Reporting		
Run Time	9:32 AM	5/3/2025	10 of 10 = 100.00%		
Run Date	05/06/2025	Page 8			
007		266	of 3.676 registered votors $-7.24\%$		

### 266 of 3,676 registered voters = 7.24%

#### **CITY OF NACOGDOCHES MAYOR - Vote for none or one** Choice Party **Absentee Voting Early Voting Election Day Voting** Total RANDY JOHNSON 7 87.50% 92 48.68% 28 40.58% 127 47.74% BRIGETTE KOZASH 52.26% 12.50% 97 51.32% 41 59.42% 139 1 Cast Votes: 8 100.00% 189 100.00% 69 100.00% 266 100.00%

## NACOGDOCHES INDEPENDENT SCHOOL DISTRICT TRUSTEE, AT LARGE - Vote for none or one

Choice	Party	Absentee	e Voting	Earl	y Voting	Election Da	y Voting		Total
DEMOND JACKSON		3	42.86%	35	19.02%	10	15.38%	48	18.75%
CHERYL D. BRADY		4	57.14%	77	41.85%	29	44.62%	110	42.97%
DAMON RUCKEL		0	0.00%	72	39.13%	26	40.00%	98	38.28%
	Cast Votes:	7	100.00%	184	100.00%	65	100.00%	256	100.00%

### NACOGDOCHES INDEPENDENT SCHOOL DISTRICT TRUSTEE, SINGLE MEMBER DISTRICT 1 - Vote for none or one

Choice Party	Absentee Voting	Early Voting	Election Day Voting	Total	
JAMES A. ERVIN	7 100.00%	144 100.00%	47 100.00%	198 100.00%	
Cast Votes:	7 100.00%	144 100.00%	47 100.00%	198 100.00%	

Precinct Resul	ts Report	NACOGDOCHES COUNTY, TEXAS	Official Results
		NACOGDOCHES COUNTY, TEXAS	Registered Voters
			2888 of 30872 = 9.35%
Official - 2025 May	' 3rd	GENERAL ELECTION	Precincts Reporting
Run Time	9:32 AM	5/3/2025	10 of 10 = 100.00%
Run Date	05/06/2025	Page 9	

CISD

128 of 1,065 registered voters = 12.02%

# CHIRENO INDEPENDENT SCHOOL DISTRICT TRUSTEE - Vote for none, one, two or three

Choice	Party	Absentee Voting		Early Voting		<b>Election Day Voting</b>			Tota
JACOB PERMENTER		0	0.00%	46	26.59%	33	27.27%	79	26.87%
JASON BROWN		0	0.00%	53	30.64%	41	33.88%	94	31.97%
SHANE BABBS		0	0.00%	25	14.45%	16	13.22%	41	13.95%
ROB CZEKNER		0	0.00%	49	28.32%	31	25.62%	80	27.21%
	Cast Votes:	0	0.00%	173	100.00%	121	100.00%	294	100.00%

Precinct Resul	ts Report	NACOGDOCHES COUNTY, TEXAS	Official Results
		NACOGDOCHES COUNTY, TEXAS	Registered Voters
Official - 2025 May	/ 3rd	GENERAL ELECTION	2888 of 30872 = 9.35%
	510	GENERAL ELECTION	Precincts Reporting
Run Time	9:32 AM	5/3/2025	10 of 10 = 100.00%
Run Date	05/06/2025	Page 10	
		107.	f = 100 registered veters - $C = 000$

ESD2

137 of 2,108 registered voters = 6.50%

# NACOGDOCHES COUNTY EMERGENCY SERVICES DISTRICT NO. 2 PROPOSITION A

Choice	Party	Absentee Voting		Early Voting		Election Day Voting			Total
FOR		1	100.00%	66	82.50%	37	66.07%	104	75.91%
AGAINST		0	0.00%	14	17.50%	19	33.93%	33	24.09%
	Cast Votes:	1	100.00%	80	100.00%	56	100.00%	137	100.00%

\*\*\* End of report \*\*\*